			Austin Tur	us, Inc. dba f and Tractor city, TX	Jabo's AC	e 4, LLC dba E Hardware st, TX
			CO-OP:	Yes	CO-OP:	Yes
			HUB:	No	HUB:	No
ITEM NO.	DESCRIPTION	QTY.	UNIT	EXTENDED	UNIT	EXTENDED

Section 1: Light Duty Equipment Preventative Maintenance and Repair

			Alternate			Pri	mary	
1	Blower Preventative Maintenance Service	4	\$153.26	\$613.04	Α	\$75.00	\$300.00	Р
2	Chainsaw Preventative Maintenance Service	4	\$143.76	\$575.04	Α	\$75.00	\$300.00	Р
3	Edger Preventative Maintenance Service	4	\$143.76	\$575.04	Α	\$75.00	\$300.00	Р
4	Hedge Trimmer Preventative Maintenance Service	3	\$143.76	\$431.28	Α	\$85.00	\$255.00	Р
5	Leaf Vacuum Preventative Maintenance Service	3	\$143.76	\$431.28	Α	\$75.00	\$225.00	Р
6	Polesaw Preventative Maintenance Service	2	\$143.76	\$287.52	Α	\$85.00	\$170.00	Р
7	String Trimmer Preventative Maintenance Service	9	\$143.76	\$1,293.84	Α	\$75.00	\$675.00	Р
8	Walk Behind Mowers Preventative Maintenance Service	2	\$167.61	\$335.22	Α	\$70.00	\$140.00	Р
	SUBT	OTAL		\$4,542.26	Α		\$2,365.00	Р

Section 1: Hourly Rates		Alternate		Primary	
		Tom Loftu	ıs, Inc. dba	BNR Store	4, LLC dba
		Austin Turf	and Tractor	Jabo's AC	E Hardware
		Haltom City, TX		Hurst, TX	
		CO-OP:	Yes	CO-OP:	Yes
		HUB: No		HUB:	No
ITEM DESCRIPTION	QTY.	UNIT	EXTENDED	UNIT	EXTENDED

Section I: Hourly Rates

1	Hourly Labor Rate Mon - Fri 8:00 am to 5:00 pm	20	\$120.00	\$2,400.00	Α	\$62.50	\$1,250.00	Р
2	Hourly Labor Rate Mon - Fri 5:01 pm to 7:59 am	1	\$135.00	\$135.00	Α	\$62.50	\$62.50	Р
3	Hourly Labor Rate Weekends & Vendor Holidays	1	\$150.00	\$150.00	Α	\$62.50	\$62.50	Р
4	Parts Mark-Up		0%		Α	5(0%	Р
5	Maximum Response Time for Standard Call		3-5	3-5 Days		3 W	eeks	Р
6	Maximum Response Time for Emergency Call		1-3	Days	Α	2 W	eeks	Р
	SUBT	OTAL	\$2,68	35.00	А	\$1,37	75.00	Р

Section 2: Medium Duty Equipment Preventative Maintenance and Repair

000110	on 2. Medium Duty Equipment Preventative Maintenan	oc and	-	2011			
			Prir	nary			
			Tom Loftu	ıs, Inc. dba		BNR Store	4, LLC dba
			Austin Turf	and Tractor		Jabo's AC	E Hardware
			Haltom	City, TX		Hurs	st, TX
			CO-OP:	Yes		CO-OP:	Yes
			HUB:	No		HUB:	No
			Prir	nary			
ITEM NO.	DESCRIPTION	QTY.	UNIT	EXTENDED		UNIT	EXTENDED
1	Backhoe Preventative Maintenance Service	1	\$964.88 \$964.88		Р	No Bid	No Bid
•	Daditios i forentative Maintenanes del vice	'	400-1.00	ψ004.00		140 Bid	140 Bld
2	Riding Lawn Mower Preventative Maintenance Service	6	\$497.58	\$2,985.48	Р	No Bid	No Bid
3	Tractor Equipment Preventative Maintenance Service	2	\$1,194.91	\$2,389.82		No Bid	No Bid
4	Utility Vehicle Preventative Maintenance Service	8	\$553.20	\$4,425.60	Р	No Bid	No Bid
	SUBT	OTAL		\$10,765.78	Р		No Bid
Sectio	on 2: Hourly Rates						
1	Hourly Labor Rate Mon - Fri 8:00 am to 5:00 pm	20	\$120.00	\$2,400.00	Р	No Bid	No Bid
2	Hourly Labor Rate Mon - Fri 5:01 pm to 7:59 am	1	\$135.00	\$135.00	Р	No Bid	No Bid
3	Hourly Labor Rate Weekends & Vendor Holidays	1	\$150.00	\$150.00	Р	No Bid	No Bid
4	Parts Mark-Up		0%		Р	No	Bid
5	Maximum Response Time for Standard Call		3-5	Days	Р	No	Bid
6	Maximum Response Time for Emergency Call		1-3	Days	Р	No	Bid
	SUBT	OTAL		\$2,685.00	Р	No	Bid

Tom Loftu	s, Inc. dba		BNR Store 4, LLC dba		
Austin Turf	and Tractor		Jabo's ACE Hardware		
Haltom	Haltom City, TX		Hurs	st, TX	
CO-OP:	Yes		CO-OP:	Yes	
HUB:	No		HUB:	No	

TOTAL SECTION 1: LIGHT DUTY	\$4,542.26	А	\$2,365.00	Р
TOTAL SECTION 1: RATES	\$2,685.00	Α	\$1,375.00	Р
TOTAL SECTION 2: MEDIUM DUTY	\$10,765.78	Р	No Bid	
TOTAL SECTION 2: RATES	\$2,685.00	Р	No Bid	
TOTAL BID PRICE	\$20,678.04		\$3,740.00	

MAINTENANCE

Fort Worth, TX						
CO-OP:	Yes					
HUB: No						
HUB: No UNIT EXTENDED						

			ПUD.	INO	ı
ITEM NO.	DESCRIPTION	QTY.	UNIT	EXTENDED	

Section 1: Light Duty Equipment Preventative Maintenance and Repair

1	Blower Preventative Maintenance Service	4	\$95.00	\$380.00	s
2	Chainsaw Preventative Maintenance Service	4	\$95.00	\$380.00	S
3	Edger Preventative Maintenance Service	4	\$95.00	\$380.00	S
4	Hedge Trimmer Preventative Maintenance Service	3	\$142.50	\$427.50	S
5	Leaf Vacuum Preventative Maintenance Service	3	\$166.25	\$498.75	S
6	Polesaw Preventative Maintenance Service	2	\$95.00	\$190.00	S
7	String Trimmer Preventative Maintenance Service	9	\$95.00	\$855.00	S
8	Walk Behind Mowers Preventative Maintenance Service	2	\$142.50	\$285.00	S
	SUBT	OTAL		\$3,396.25	S

ITEM NO.	DESCRIPTION	QTY.	UNIT	EXTENDED	
Secti	on 1: Hourly Rates		Seco	ndary	
			Leonard's	Farm and	
				tore, Inc.	
			Fort W	orth, TX	
			CO-OP:	Yes	
-			HUB:	No	
1	Hourly Labor Rate Mon - Fri 8:00 am to 5:00 pm	20	\$95.00	\$1,900.00	S
2	Hourly Labor Rate Mon - Fri 5:01 pm to 7:59 am	1	\$142.50	\$142.50	S
3	Hourly Labor Rate Weekends & Vendor Holidays	1	\$190.00	\$190.00	S
4	Parts Mark-Up		30)%	S
5	Maximum Response Time for Standard Call		5-7 Days		
6	Maximum Response Time for Emergency Call		2-3 [Days	S
SUBTOTAL				32.50	S

Section 2: Medium Duty Equipment Preventative Maintenance and Repair

ITEM NO.	DESCRIPTION	QTY.	UNIT	EXTENDED	
1	Backhoe Preventative Maintenance Service	1	No Bid	No Bid	
2	Riding Lawn Mower Preventative Maintenance Service	6	No Bid	No Bid	
3	Tractor Equipment Preventative Maintenance Service	2	No Bid	No Bid	
4	Utility Vehicle Preventative Maintenance Service	8	No Bid	No Bid	
	SUBTOTAL		No Bid	No Bid	

Section 2: Hourly Rates

			Leonard's	Farm and	
			Ranch Store		
			Fort Worth, TX		
			CO-OP:	Yes	
			HUB:	No	
1	Hourly Labor Rate Mon - Fri 8:00 am to 5:00 pm	20	No Bid		
2	Hourly Labor Rate Mon - Fri 5:01 pm to 7:59 am	1	No Bid		
3	Hourly Labor Rate Weekends & Vendor Holidays	1	No Bid		
4	Parts Mark-Up		No Bid		
5	Maximum Response Time for Standard Call		No Bid		
6	Maximum Response Time for Emergency Call				
	SUBTOTAL SECTION 4: LIGHT DUTY		No Bid		
			\$3,396.25		+
	TOTAL SECTION 1: LIGHT DUTY			10.23	S
	TOTAL SECTION 1: RATES			\$2,232.50	
	101112 020 11011 11 1101120		ΨΞ,ΞΘ	2.00	S
	TOTAL SECTION 2: MEDIUM DUTY	No Bid			
	TOTAL SECTION 2: RATES			No Bid	
		ı	4		S
	TOTAL BID			\$5,628.75	

Awards:

Section 1: Section 2:

Primary: Jabo's Hardware, LLC Primary: Tom Loftus, Inc. dba Austin Turf Tractor

Secondary: Leonard's Farm & Ranch Store

Alternate: Tom Loftus, Inc. dba Austin Turf and Tractor

Secondary: None
Alternate: None